Classification of Word Problems
Addition and Subtraction

Result Unknown
Keisha had 5 m&m’s. Tomas

Change Unknown
Keisha has 5 m&m’s. Tomas

Start Unknown
Keisha had some m&m’s.
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Compare

Difference Unknown

You know how much each person has; you are looking for the difference.

(“How many more?” version)
Keisha has 13 m&m’s. Tomas
has 5 m&m’s. How many
more m&m’s does Keisha
have than Tomas?
5+?=13 or 13-5=7?
(“How many fewer?” version)
Keisha has 13 m&m’s. Tomas
has 5 m&m’s. How many
fewer m&m’s does Tomas
have than Keisha?
5+?=13 or 13-5=7?

Compare Quantity Unknown

You know the difference; you are looking for the bigger amount.
(Version with “more”)

Keisha has 8 more m&m’s
than Tomas. Tomas has 5
m&m’s. How many m&m’s
does Keisha have?
5+48=7
(Version with “fewer”)

Tomas has 8 fewer m&m’s
than Keisha. Tomas has 5
mé&m’s. How many m&m’s
does Keisha have?
548=?2o0r ?7-8=5

Referent Unknown

You know the difference; you are looking for the smaller amount.
(Version with “more”)

Keisha has 5 more m&m’s
than Tomas. Keisha has 13
m&m’s. How many m&m’s
does Tomas have?
7+5=13
(Version with “fewer”)

Tomas has 5 fewer m&m’s
than Keisha. Keisha has 13
m&m’s. How many m&m’s
does Tomas have?
13-5=7

Red = Kindergarten Mastery, 1* and 2" Grade Review
Blue = Kindergarten Exposure, 1** Grade Mastery, 2"* Grade Review
Green = 1* Grade Exposure, 2"! Grade Mastery
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